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Answer all questions in the spaces provided.

The points scored by 20 teams in a competition are shown.

25 33 36 23 35
24 50 37 26 46
48 35 51 28 39
30 48 33 44 25

Show this data on an ordered stem-and-leaf diagram.
Remember to complete the key.

(3 marks)
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1 (b) Teams that score more than 25 points stay in the competition.
What percentage of the teams stay in the competition?

16 120..=2... %0 . %

gy B

Answer %O % (2 marks)

Turn over for the next question

Turn over p

A
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2 (b) Draw a line of best fit on your scatter graph. ‘
(1 mark) |

| *2 (c) What type of correlation is shown?

2 e o, e R o Lo Mk . S (1 mark)

2 (d) Matthew is organising a game at the school fayre.

Each player will be given 10 attempts to throw a ball into a bucket.
He wants the average number in the bucket to be 5.

Use your line of best fit to decide how far the bucket should be from each player.

Turn over for the next question

Turn over p

I
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3 The table shows the Geography and History grades of 100 students.

History

D Cc B A A*

5 1 2 0

3
Cc @ 8 4 3 1

Geography B @ 5 9 2
NloloRIE
‘ A* @ @ @ 2 ‘
3 (a) How many students have at least one grade A* in these subjects? ‘
1 9 |
PATIBTET soonesoesiurmmsissaaiisomsosnnnmm rasii i s o S (2 marks) |
3 (b) How many students have a higher grade in Geography than in History?

..... Lo have. ciccleck  Ehe celavent  nNuambers Lo

SR -V (o O
Answer L\/a\ ...... Skudo,r\lg .................... (2 marks) |

L
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4 Class A had a spelling test of ten words.
The table shows their marks.
Class A
Mark Frequency Musck y Frul.:
5 4 LO
6 2 i3
7 8 54
8 10 SO
9 6 54 1
Total =30 Total= 929 |
4 (a) Show that the mean mark is 7.4
Mean =z T2 o 2% Feg
= F 30
............................................................................................................................. (3marks) |

| *4 (b) Class B had the same test.
1 The mean mark for Class B is 6.5

The teacher says,
“On average, Class A scored 15% higher than Class B.”

Is she correct?
You must show your working.

(3 marks) |

Turn over p

NI
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5 A bag contains only red counters and blue counters.
There are 6 more red than blue.

A counter is chosen at random from the bag. g

1

The probability it is blue is 0

How many red counters are in the bag?

B S S T L L I serarasasasssaennsas B e e TR L s s s s s EE R R sEEe s Eaa s

i Answer q ...................................................... (3 marks)

L
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6 Girls and boys are timed in a race.
The box plot shows information about the times for the girls.

Girls

FShisEe

10 12 14 16 18 20
Time (seconds)

e 25% of the boys take 12 seconds or less
e The interquartile range for the boys is the same as for the girls

e The ratio of median times is girls : boys =8 : 7

Complete the box plot for boys on the grid below.
The times for the fastest and slowest boys have been plotted for you. ‘

Boys ‘

N

10 12 14 16 18 20
Time (seconds)

(4 marks) |

Turn over p

L
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7 The table shows information about the lengths of 200 bananas.

Length, I (cm)

Frequency

5<I=<10 12

10<I=<15 48

156 <1=<20 70

20<I=<25 60

25«<]=30 10

7 (a) Complete the cumulative frequency column.

Cumulative
frequency

12
60
130
190
LOO

7 (b) Draw a cumulative frequency diagram for the data.

Cumulative
frequency

M

200

180 1-

160

140 1o f

120

80

60

20

Bananas

204

e

Y

20
Length, / (cm)

25

30

|

(1 mark)

(3 marks)
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7 (c) A shop only buys bananas with lengths between 16 cm and 22 cm.

Estimate the fraction of the 200 bananas that the shop buys.

................. aoomt“”lOOms—
13
Answer 50 .................................................. (3 marks)

Turn over for the next question

Turn over p

i
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8 A travel company sells holidays.

8 (a) The company sold 1072 UK holidays in 2012.

| It expects the number it sells to increase by 12% each year.

Work out the number of UK holidays the company expects to sell in 2014.

lo72 + oavrio#a) =

Do not write
outside the
box

(to_neared ik ‘)

AyTeguamivery, 103 x Liat = | 345 (Vo neacest infege.)
Answer "3Lf§ ................................................ (3 marks) |
8 (b) The company wants to survey 500 customers, stratified by country visited.
1 Complete the table.
UK Spain France Italy Total
pumberaf | gp 2392 316 220 4000
customers
Number in , ¢ . 3
el 394 2299 %O e, 500
K (3 marks) |
1072  <oo
4000
12 WMP/Mar13/43601H
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9 Jack and Lucy each spin this fair 10-sided spinner once.
Key: G =green ‘
B = blue |
G G
B G

Jack wins if their colours are the same.
Lucy wins if their colours are different.

Who has the better chance of winning?
You must show your working. §

- 6 i 6 = B 24 - 13
........... im}o@j@@5ol§
Pliseg.ninn). = RAAIRCsent colouc) = 1= PSeme colour)
= | — 26 N s oack has ggceeker chance
....................... S\ O Olgo(_«whv\n\(\%
Answer )&C’R ............................................. (3 marks) |
9

Turn over p

A
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10 The histogram shows information about the distances 600 people travel to work.
A
40
35
| 30
25
Frequency
it
density 20-
154
10+
5_
0 | | 1 | | 1 I I - >
0 5 10 15 20 25 30 35 40 45 50 55 60
Distance (miles)
10 (a) How many people travel more than 20 miles to work?
F.D. = ——— =5 F= DX <.
.............................. C_u‘
i w— s = O
| Poge = B R %0 = 2 e
Answer ......... D\OO ............................................ (2 marks) |

M
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10 (b) 224 of these people travel further to work than | do.

Estimate the distance | travel to work.

F
20-mile marR which cells e & clogs widkh QN un \’3 CN-= ED.

[ 11 A shelf supports 80 kg, to the nearest kilogram.
‘ Bottles weigh 1.4 kg each, to the nearest tenth of a kilogram.

Work out the greatest number of bottles that can definitely be supported by the shelf.

Ml = Wdighk that can be anppacteed by bhe  Shelf anc

END OF QUESTIONS

_ oO- Y ~ ; ‘
Foso. . BX10 2RO and B2t x(19-10)+10
N

Answer ';_ .................... miles (4 marks) |

AN
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There are no questions printed on this page
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